GENERAL NQTES:

1. STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOQUMENT (P.£.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH
THE ‘2010 EDITION OF THE FLORIDA BUILDING CODE. THIS STORM PANEL SHALL MNOT BE INSTALLED AT HIGH VELOCITY HURRICANE

ZONES (MIAMI-DADE /_BROWARD COUNTIES).

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE ABOVE MENTIONED CODE,

FOR A WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND
FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7—10 FOR INSTALLATIONS UNDER 2010 FBC AND SHALL
NOT EXCEED THE MAXIMUM (AS.D.) DESIGN FRESSURE RATINGS INDICATED ON SHEETS 4 THRU 8.

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7-10
SHALL BE FIRST REDUCED TO AS.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.8 IN ORDER TO
TO COMPARE THESE W/ MAX. (AS.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 4 THRU 8.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.ED. AS TESTED WERE NOT OVER STRESSED, A 33% INCREASE IN
ALLOWABLE STRESS FOR WIND LOADS WAS NOT. USED IN THEIR ANALYSIS. A DURATION FACTOR CD=1.60 WAS USED FOR VERIFICATION
OF FASTENERS IN WOOD,

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH -SECTION 1809.1,2 OF THE
ABOVE MENTIONED CODE AS FER ATL REPORTS # 0121.01-98R, # 0329.01-00, #0512.01-03 AND 0617.01-04 AS FER SSTD 12-89
STANDARD.,

2. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY ASTM A—853, GRADE 40, WITH G-B0 GALVANIZED STEEL
DESIGNATION.

3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOLIATION BO63~T8 ALLOY & TEMPER UNLESS OTHERWISE NOTED,
STORM FANEL COMPONENTS STUDDED PLATE AND SNAP CAP ARE PATENT PENDING.

4 ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AlS! SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018
W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH & SHALL COMPLY W/ FLORIDA BUILDING CODE SECTION 2411.3.3.4.

& BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AIS) 304 SERIES STAINLESS STEEL, WHTH 35 ksi MINIMUM YIELD STRENGTH.
6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

{A) TO EXISTING POURED CONCRETE:
— 1/4" 8. TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX.
~ 1/4" @ CF TAP=GRIP ANCHORS (BERTHA STUD-CON), AS MANEFACTURED BY FRU—FAST CORPORATION,
= 174" 8 ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC.
~ 174" # x 778" CALK—IN ANCHORS OR ELCO male & female “PANELMATE" AS MANUFACTURED
BY POWER FASTENERS, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY.,
- 1/4" 8 x-3/4" ALL-POINTS SOLID~SET ANCHORS AS DISTRIBUFED BY ALL POINTS SCREW, BOLT & SPECIALTY -COMPANY.

NOTES:
A1) MINIMUIA EMBEDMENT INTO -POURED CONCRETE OF TAPCON ANCHORS 15 1 3/4"; FOR ZAMAC “NAILIN ANCHORS IS 1 3/8% FOR
ELCO PANELMATE ANCHORS 1S | 3/4", AND FOR CF TAP—GRIP ANCHORS IS 1 178"

A.2) 7/8" CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONGRETE,  NO EMBEDMENT INTO STUCCO SHALL
BE PERMITTED, 1/4"8-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR
WALLS WITH NO STUCCO.

A.3) MINIMUM EMBEDMENT OF 1/4% x 3/4" ALL POINTS SOLID—SET ANCHORS SHALL BE 7/8" INTO THE POURED CONCRETE. NO
LMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” 8-20 $.5. MACHINE SCREW USED SHALL BE 1 1/2" LONG MINIMUM
SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

A4) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON FHE EXISTING WALL OR FLOOR,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS

INDICATED ON NOTES A1) & A.2) ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL:
= 1/4" 8 TAPCON ANCHORS AS MANUFACTURED BY LT.W. BLILDEX.
~ 1/4" 8 CF TAP-GRIP ANCHORS [BERTHA STUD-CON), AS MANUFACTURED BY TRU-FAST CORPORATION,
= 1/4" 8 ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC.
—- 1/4° 8 x 778" CALK—IN ANCHORS OR ELCO mole & femcle "PANELMATE" AS MANUFACTURED
BY POWER FASTENERS, INC. AND ELCC CONSTRUCTION PROBDUCTS, RESPECTIVELY.
~ 1/4" @ x 3/4" ALL POINTS SOLID~SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY,
— 1/4” 8 RED HEAD DYNABOLT SLEEVE ANCHORS AS MANUFACTURED BY LTW. BUILDEX,

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON, ELCO PANELMATE, AND CF TAP—GRIP ANCHORS INTO CONCRETE BLOCK
UNIT SHALL BE 1 1/47: 1 3/8" FOR ZAMAC NAILIN ANCHORS AND 1 1/8" FOR RED HEAD DYNABOLT SLEEVE ANCHORS

B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO %TUCCO
SHALL BE PERMITTED. 1/4"9—20 SCREWS USED SHALL BE 1 1/2" LONG MINMUM SHOULD STUCCO EXIST, AND 17 MINIMUM
FOR WALLS WITH NO STUCCO.

B.3) MINIMUM EMBEDMENT OF 1/4"8 x 3/4" ALL POINTS SOLID~SET ANCHORS SHALL BE 7/8" INTO THE CONCRETE BLOCK, NO
EMBEDMENT INTO STUCCO SHALL BE PERMITIED. 1/4" @-20 S.S. MACHINE SCREW USED SHALL BE 1 1/2" LONG MINIMUM
SHOULD STUCCO EXIST, AND 1™ MINIMUM FOR WALLS WITH NO STUCCO. .

B.4) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG
ENOUGH TO REACH THE MAIN STRUCTURE BEWIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES IN B. 1) AND

B.2) ABOVE.
{2) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S MANUFACTLRER.

7. PANELS MAY ALSC—BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU & (SHEET 2 & 3 OF 8)
EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
ATTACHED TO INSURE PROPER ANCHORAGE, THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.

9. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH THE
BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH,

0. (o) THIS P.ED. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR-A SITE SPECIFIC PROJECT: le.

1

WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS PRODUCT,
BASED ON THIS P.ED. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETALED ON THIS DOCUMENT. CONSTRUCTION

SAFETY AT SIE IS THE CONTRACTOR'S RESPONSIBILITY.
(c) THIS-P.ED. WiLL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

{d) SITE SPEGIFIC PROJECTS SHALL BE PREPARED™BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL BECOME THE
ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE RED,
ENGINEER OF RECORD, ACTING .AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE

~SPECIFIC DRAWINGS FOR -REVIEW.

(e) THIS P.ED. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER™ OF RECORD THAT
PREPARED 117

SHUTTER MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM PANEL IN ACCORDANCE WITH SECTION
1715.8.3 OF FLORIDA BUILDING CODE. ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
LABELING TO COMPLY WITH SECTION 1715.8.2 OF THE FLORIDA BUILDING CODE.

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

®©2011 TLTECO, INC. 24 GAGE GALVANIZED BERTHA STEEL STORM PANELl Le/RE/Ac.
(2.25" DEEP) DRAWN. BY:
12/06/11
| EASTERN METAL SUPPLY, INC DATE:
|/ TILTEC O e L
R S ol I T PHONE: (561)209~8263, FAX: (561)841-1716 11-223
Phone » (305)871-1530 . Fax : (305)871-1531 Py T TATE DRAWING No

EG-0006719 REV, No DESCRIFTION DATE

WALTER A. TILLIT Jr. FP.E. ! D 05-142 12/08/11] 3
FLORIDA Lic. # 44187 2 4

SHEET t+ OF 8




5 .
8 b 1000" Mox. 2.470
14.845" (TOTAL WIDTH) 8.845" (TOTAL WIDTH) 2.470" YIS J.000" Mox .
" . A 125¢ 2,470
12.000" (EFFECT/VE WIDTH) 5.000"(EFFECTIVE WIDTH) |- —t v = . _-ras0"
1.500 *1 4500" 4500”-——1 r 500" ‘ 3 ,%4/ \4 ., 125" N %
AS APPLICABLE { N 7| or125” R.250" [ [125" R.250 ' R
o’ 24 68 °\/\ 58 ] 2 N B A1y : E 1 ’ _/i( aﬁ t 075" % %8
J ol SO g 5% R.125 3 R b reoo/ || (% | % R
qb? ) 5 w & & N L\i % ~H— :Q' g* . ~ R 125" ‘g : :Q § N
J Lo X " - N S '
N ~ 2.125" l—13.801°—| 2.125" |- ’ N ~| 2.125% |- 1 - 0,;5 . § o % O sl *‘é‘ N g ot
FULL PANEL W/ HEMMED EDGES ALF_PANEL W/ HEMMED EDGES -8 T | oL R
‘ I § lo—z‘zsa“
N 2.591"
- 2050*— . FulL R,
15.119" (TOTAL WIDTH) 9.119* (TOTAL WIDTH) 2.591* 2591" @ *U* MEADER
12.000" (EFFECTIVE WIDTH) B.000"(EFFECTIVE wmrw SCALE : 3/8" = 1°
" 3y aie
1.500/ 2.500" ——f-22%— 4 500" - 1.500" 1.500 +.500" ~}-500" @ h” HEADER @ 3 Max. “U” BUILD OUT
(9 —AS APPLICABLE [,, | nFP“t.‘?AﬂLE SCALE ¢ 3/8° = 1* SCALE : 378" = {*
(yp) \ Lk
a?vmsga. g Q
w N
~ 2.125" |- 1 a8
OPTIONAL HALF PANEL W/C HEMME £ES 750" Mox. 1 B .
7 500" Mox. S § a !
@ SOLID STORM_PANEL l B ___JF_L 5
SCALE » 3/18° = 1" & ] w
pr] :ﬂ:Li
% | |-, 090” l
{080
[ ToP TRack | 3.000" Mox. ,
(SEE COMPONENTS) ” * ; 7@ :ﬂ * B 0.
2 COMCRETE ANCHORS (SEESCHEDULE) . @ 3~ _ANGLE BUILD “"‘“a"“"a"-Q' e 5
Mm 1 Min. e 2 o «
= r — = "SCALE ; 3/8%= 1" SCALE : 378" = 1® 8CALE : 3/8" = 1"
AV

]— £56E OF ()
¥ E
T

.S. STUD RIVETED 1D

[ +"9 304 SERIES e

« |ANGLE @ SPACINGS 1

% 093" 'SHOWN ON SECTIONS. - —
A y A N A

~ A ' y

it tEH-E

350"

) PEPLIRY
— 74_____1 3
® '7 ) *
™ )
T | ——t I r %L _
g e b o e e e fed -~ ot san 0 3
2 2 g o] el A\D . 7 5]
T7875" ok
LMJ”-L—m-—r—CDNCRHE ANCHORS (SEE SCHEDULE) .——~——L—3 —! . - l-fb%gq‘" OR 080" ;»’:; 0;"
7 i STORM PANEL s, ‘ - = g
TYPICAL ELEVATION w?ﬁs’;%ﬁgfénm @ STUDDED ANGLE ~ DETAIL 1: smup wy o casT zmc @ KEY HOLE AT PANEL @ ROUND HOLE AT PANEL - @ MO_LE__M_W_,:Q_S
NES 6063-T5 Mum, ALLOY MICKEL PLATED WING NUT ( OPTION TO 76)— J?g;wm?.j%?; P!
SCALE : 378" = 1*
1/4" Mox. GAP 1/4" Mex. GAP < L
\Eﬁ?';‘\ N TN 77 . oo

1/4"6 304 SERIES
i’i?i’ &,}‘jlf § -
SECTION A=A /',

p052" S5, STUD RIVETED
LATE
=, e o 17 5e
‘3 A. Tl y 7= 668"
rs %-' Ly, ] , i .

‘Q % \g,;ﬁsig ‘4?’:& 2 750-813" T FLORIDA BUILDING CODE (Non High Velocily Hurricane Zone)
§ i N , g B ' . 02011 TLTECO, INC. 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL|  v6./RE/Ac.
w8 = 629" 2.188" 8 2.25" DEEP DRAWN BY:
S : § 471" R1.828" oaz": : - 12/08/11°
= N : NH 1. - ~
1 N I\ a7 / P EASTERN METAL SUPPLY, INC DaTE:

“ ‘ s B iLlEco . ST,
T ING e MP Are PHONE: (561)209-6263, FAX: (561)841-1716 11-223
12 SIUDDED PLATE 13 SNAP CcAP Phana (:os)s7v~rssg Fox + (JOJBI1831 [ g e T DRAWING No
B063~T6 ALLOY 6083~T6 ALLOY EB~-0Q0E718 d -
~Te ALY L 5sgh = ge WALTER A. TILLIT Jr. P.E 1 oup 08-142 2/ | 2 SHEET F 8
SOALE = 38" = 1 SCALE : 38" = 1 FLORIDA Lic. # 44167 7 7 14 0




TAPCONS, ELCO male/female
PANELMATE, ZAMAC NAILIN,

CALK—IN OR CF

TAP-GRIP

TAPCONS, ELCO maleffemale
PANELMATE, ZAMAC NAIEIN,

AN

TAPCONS, RED HEAD DYNABOLT
(BLOCK ONLY), ELCO male/female
PANELMATE, ZAMAC NAILIN,

R CALK—IN OR CF TAP-GRIP N CALK~IN OR CF TAP-GRIF N CALK~IN OR CF TAP-GRIP .Q)
ANCHORS. (SEE SCHEDULE FO, 8 ANCHORS. (SEE SCHEDULE FOR ANCHORS. (SEE SCHEDULE FOR S ANCHORS. (SEE SCHEDULE FOR ¥ R
SPACING). by SPACING). \ | SPACING). 72 SPACING). ;:1 %1 ,———@ cont
i — < "
=g POURED ———E—_Eé'f | — ‘ TN ; ’/1 i
PGURED f : gﬁggﬁ%{f é POURED 1 : ’23%’25%5 N\ ( }
CONCRETE ~ Q RETE — : .
REQUIRED ; ] b N\ S 2 AL . } ! REQUIRED S | | :
ey L N | I Y N AR R A
- —@ Cont. N ———@ Cont.
] o wa . | A\ |
L - g L, | |
| 1 ] 2 1
I i iy — | ] 9 | o
J GLASS OF WINDOW @ a | ‘
| | 2 OR'S. G D. | | by | | g | | i\
g e | 2 | 3
A | 2 n | 3 A | tu | A l A | 3
Ar W A Y A W A A ]
i I u { V I = 7 ] L, v v ]
|-——1 * MINIMUM —] 9 4 1" MINIMUM —= > l————»r” MINIMUM ] 1 W
T S : ] 3 snonre FRBEYE, | g
OR & ¢ B 9 1/4" a-20 x 3/4"{ 2 AL e , z . 6. D
1| G 1| ¢ N | ]
t L G _— > "o . » g
| | - | | 0% e me | X ]sélfrsfwfo,?ffay 4 | l N
J ] I * ‘ ’ l (w/ s1UCCO) \ l 1 % | 332 WiNe"NUT 0 %:
8 : /4" 0-20 x 3 ' °
A AN \GeEEw | 77 (I
y \ o ?] ) ‘ ‘ ' /T ! gﬂc NUT & { ! L
o | 4 4 ; - \ 12" 0. ¢ = A
rauney A ! S I 28%’2%{/ h ' I, Concser: 3 /+/] poren_— Z | i
CONCRETE 1 OR CONCRETE | L .
OR CONCRETE 8 OR CONCRETE l R CoNeRe] | ouRED / 3 [ ;
100 i N B BLOCK WALL | REQUIRED. ! OR CONCRETE ) 7
BLOCK WALL 7 LT PR | BLOCK WALL N 1
REQUIRED ==<An A4 | @ A= L REQUIRED pe—g I | |
/—7L|=1 { (&) cont. = F = /‘? H (&) cont,
|
|
|

TARPCONS, ELCO mole/female
PANELMATE, ZAMAC NAILIN,

JAPCONS, ELCO male/femate
PANELMATE, ZAMAC NAILIN,

7

CALK—IN OR CF TAP-GRIP
ANCHORS. (SEE SCHEDULE FOR

SPACING).

SECTION @ ANCHOR

TAPCONS, RED™HEAD DYNABOLT

(BLOCK ONLY), ELCO male/female

PANELMATE, ZAMAC NAILIN,
CALK—IN OR CF TAP-GRIP

ANCHORS. (SEE SUHEDULE FOR

SPACING).

7 T =
| | 3 SECTION 2 SCALE ¢ 3/8" = 1"
( ) i)
| ;
Ly
7 | [ d
. D s
Wy _‘ ’/j/‘ 12" 0. ¢ %,4 £ D. = EDGE DISTANCE
= (SEE SCHEDULE ON
/ / ) [:\g SHEETS 8 & & OF E)
POURED [ %
CONCRETE S
O CONCRETE , [ I
BLOCK WALL L
REQUIRED

WALL MOUNTING INSTALLATION

SPACING).

7

—

000"

7

SECTION @ STUB

WALL MOUNTING INSTALLATION

SECTION 1

SCALE : 3/8" = 1"

NOTE : DETAIL OF SECTION @ STUD VALID ALSO FOR
WALL MOUNTING INSTALLATION — SECTION 2 (TOP)

L(@ Cont.

TAPCONS, RED HEAD DYNABOLT
(BLOCK ONLY), ELCO maje/fernole
PANELMATE, ZAMAC NAILIN,
CALK—IN OR CF TAP-GRIP
ANCHORS, (SEE SCHEDULE FOR

WALL MOUNTING INSTALLATION

I
TAPCONS, RED HEAD DYNABOLT /

(BLOCK ONLY), ELCO male/female;/w
CALK—IN OR CF TAP-GRIP

PANELMATE, ZAMAC NAILIN,

ANGHORS. (SEE SCHEDULE FOR

SPACING),

NOTE FOR COMBINATION OF SECTIONS :

ITL e

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BEE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. 3 -

SECTION 3

SCALE : 3/8" = 1*

BUILD OUT INSTALLATION

SECTION 4

FLORIDA BUILDING CODE (Non High Vslocity Hurricane Zone)

SCALE : 3/8" = 1"

/TiLlEcom \

©2011 TLTECO, INC.

TILLIT TESTING & ENGINEERING COMPANY
8355 N.W. 36th, Sb, Ste. JOS, VIRGINIA GARDENS, 1 33168

Phone + (305)871-1530 . Fox : (305)871~1631
EB-00G6719

WALTER A. TILLIT Jr. P.E. U

24 GAGE GALVAN/gED BERTHA STEFL STORM PANELY Le./RE/As.
(2.25" DEEP) DRAWN BY:
12/06/11
EASTERN METAL SUPPLY, INC DaTE:
4268 WEST ROADS DRIVE
WEST PALM BEACH, FL. 33407 11-223
PHONE: (561)209~8263, FAX: (561)841-1716
FEV. Mo DESCRIPTION DATE | REV. No DESCRIPTION PaTE DRAWING No
oip oa-idz  lidwesiy 3 SHEET 2 OF 8

FLORIDA Lic. # 44187 2

4




TAPCONS, ELCD male/fernale
PANELMATE OR CALK—IN ANCHORS

(SEE SCHEDULE FOR SFAC/NG). .
POURED CONGRETE \\ "F‘ SRANN
TN i K

1741 P77 e O
\ . AN \[‘ \]\ \. \[ \\ \q

TAPCONS, ELCO male/fermale
PANELMATE OR CALK—IN ANCHORS

ALTERNATE .
LEG LOCATION

374" BOLTS W,
7/8" 6 x 3/32"
WING NUT 8

12" 0. G

!
|
|
l 1/4" =20 x
|
|
|

A
A
1" MINMUM

SEPARATION TO
GLASS

1/4" 9~20 x /4"
BOLTS W/ 7/8" & x|
3/32" WING NUT

@ 12" 0. ¢

ALTERNATE

CALK—IN ALL POINTS SOLID—SEF OR

7/8" ¢ WING NUT ONLY
APPLICABLE AT MALE
PANELMATE (TYP.)

LEG LOUATION 7

| ol

% /1-7-{%// ' IH

TAPCONS, ELCO muole/fernale 11 i
PANELMATE OR CALK~IN ANCHORS -
(SEE SCHEDULE FOR SPACING).

A

POURED CONCRETE-
REGLIRED

CEILING & FLOOR MOUNTING
INSTALLATION - SECTION &

SCALE : 3/8" = {"

E. D. = EDGE DISTANCE
(SEE SCHEDULE ON
SHEET 5 & -8 OF 8)

Mox. PANEL LENGTH (SEE SCHEDULE)

TAPCONS, ELCO male/female ELCO male/female PANELMATE
PANELMATE OR CALK-IN ANCHORS (SEE SCHEDULE FOR SPACING). £ D N q% %1/4"«:1—;;0 SIDEWALK BOLT O © /
(SEE SCHEDULE FOR SPACING). . £ D, \ 97 /COHEVZ//UZZ_’A#FZ;QC;P;FSZVS;HEAD BOLT —
E D.X] Se \ }
POURED CONCRETE POURED CONCRETE POURED ; P
QUIRED . .
o O iy |
/
| oo
NN N N & | |
| ; 1 N
| awrermare | '
[ t LEG LOCATION } { N [
| N o
1 | | 9 Cant. | | | = | |
|
| | o g, | N
o | . o [7/3“ s x 3/32 ]| | & | | o
: | En (0L i) B I ; R
g | 0 ¥ | | LD § ! Lo
8 [ | I 0 | | 3 } | i
Wy I . I ‘ | | Ad !
i | , g | | 4 AR :
Iy Al | z | A | = 17 MM | Lo
é : /w ’ g r\¥ | I ’{‘Is SEPARATION m—-} | |
g | I S| L 17 MINIMUM | g suss | o
= | o SEPARATION 70— | 4
N 1" MINIMUM g 6LASS | | o } | |
2 SEPARATION 70 —| b £ | b £ ] .
£ 6LASS | b . | ! £ | | b
8 j b 2 | I § | I
3 | ' b e e 30 | I = 1 v L
l , i | | s '@ | | z iz .
e e l ! 7 . =
i Cont. - I }
| = | 2 D |
| » 1 ! ] l b 1 —gguggg_f . u / I
~ A
I L - OR CONCRETE 7', : :
Yo / /[r'/‘(/'//i / // p g /// gégg’fggg k —m:u./;fg | |
. E=~“-j -
TAPCONS, ELCO rmale/female /1” 1.000 7 TARCONS, ELCO" male /female: CALK~IN ALL POINTS SOLID—SET oj/ g L
?;‘;"f e oo CALK=IN ANCHORS T 7 PANELMATE OR CALK—IN ANCHORﬁ/’] ‘ £LCQ_maie/female PANELMATE
£ ING). £ D24 (SEE SCHEDULE FOR SPACING). / 7 @ ’y{}zﬁfﬁé’_ﬁéﬂ%ﬁs"sﬁ’b’ e,
Reotmrn " VORETE REE SCHEDULE FOR SPACING)
RED. E D

CEILING & FLOOR MOUNTING
INSTALLATION — SECTION 6

SCALE : 3/8" = 1"

¥
POURED CONCRETE
REQUIRED

CEILING & FLOOR MOUNTING
INSTALLATION — SECTION 7

SCALE : 3/8" = 1"

WALL MOUNTING INSTALLATION (D. M.)

— SECTION 8

#*
SIDE WALK BOLTS ARE ﬁ/" ax3/(52 “THICK
HEAD MACHINE SCREW W/LENGTH
AS PER NOTES A2 & B.2 (SHEET 1)

*

TRUSS HEAD BOLTS ARE 1/2"8x1/8"THICK
HEAD MACHINE SCREW W/LENGTH
AS PER NOTES A2 & B.2 (SHEET 1)

FLORIDA BUILDING CODE (Non High Velocily Hurricane Zone)

SCALE ; 3/8" = 1"

NOTE FOR COMBINATION OF SECTIONS : 2011 TLTECO, INC. 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL|  LG/RE/ac.

» .

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE (2.25" DEEP) DRAWN BY:

COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. 12/06/11

EASTERN METAL SUPPLY, INC DATE:
iLTEco .. i
ALM BEACH, FL. _
e K e s PHONE: (561)209-8263, FAX: (561)841-1716 11-223
Fhone : (.705)372';1_5;2 aﬁl»‘;; g (305)871~1531 " T NN oy e DRAWING No
. WALTER A. TILLIT Jr. P.E. I oLp 08-142 13/08/11, 3

*"‘”fwﬂiﬂﬁ"g ¢ FLORIDA Lie. # 4;;57 2 P SHEET 3 aoF 8




2 x 4" x 125"
3105-H14 OR B0B3~-T8
Cont. Alum. ANGLE

CASE A (Plan)

ALLQL/

SCALE: 1/4" = 1"

POURED CONCRETE
OR CONCRETE

12" 0. C. ~n

S
7.000"—L4

2" x 2"-x 055" 7O
2 % 5" x 055"
Cont. Alum, ANGLE
OR 080" 3105~H154
SHEET METAL Alum.
BENT PLATE

CASE C (Plan)

BLOCK WALL

REQUIRED 2.500" Min-N
CONCRETE
ANCHORS @'\“ R »

~ALTERNATE LEG LOCATION

SCALE: 1/4" = 1"

2" x 3" x 093"
3105 H-14 OR
B063-T6 ALLOY
cont. Alurn, ANGLE
WITH ANCHORS
@ 12" 0. C

SgURED CONCRETE
CONCRETE BLOCK WALL

REQUIRED \
I

ggURED CONCRETE
/ CONCRETE BLOCK WALL
REQUIRED

4

VARIES 3" !t
Max,

CONCRETE ANCHORS
® 12" 0. C
VARIES 37

@]

N
N
o
174" 8 BOLT 4" x 4" x 072" )
& 24" 0. C. 3105-H14 OR 6063-T6 ALLOY
W/ IACKNUT Cont. Alum, ANGLE

CASE B (Plan)

Min.
s B SN
POURED CONCRETE ——— E;REG g)
OR CONCRETE BLOCK
WALL REQUIRED N
AN

SCALE: 1/4" = 1"

-

X=B.0.
DISTANCE

”

1.000” 1.000

POURED CONCRETE
R CONCRETE
LOCK WALL

REQUIRED

CASE E (Plan)

SCALE: 1/4" = 1"

©2011 TILTECO, INC. 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL) L.6./RE /A6

N ) )] DRAWN BY:

END CLOSURES DETAILS (2.25" DEEP) o o

CASE D (Plan ) : ) / IILIE co i EASTERN METAL SUPPLY, INC DATE:
“ ‘ ) INC. 4268 WEST ROADS DRIVE
SCALE: 1/4" = 1” = T WEST PALM BEACH, FL. 33407 _

= % ~LoR) By G ety SpEe . Anvas PHONE: (561)209-8263, FAX: (561)841-1716 11-2253

a’;?iné !LS:S"; Ko ":%?ﬁ Phane : Hos)a;ég_ségb;;’;g: (305)871-1531 EV. No "DESCRIPTION DATE | REY. No DESCRPTON | DATE DRAWING No
=, Onal @“;:’ oi? WALTER A, TLLT . PE : o G592 _ligjmejiil 3 SHEET 4 OF 8

=, M je. 4

TAPCON ANCHORS OR
ALL POINT SOLID-SET
(SEE SCHEDULE FOR SPACING)

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND

CORRESPONDING MAXIMUM PANEL LENGTH "L” (Ft.) SCHEDULE

POURED CONCRETE

OR CONCRETE
BLOCK WALL
REQUIRED

TAPCON ANCHORS OR
ALL POINT SOLID~SET

(SEE SCHEDULE FOR SPACING,

POURED CONCRETE
OR CONCRETE BLOCK:
WALL REQUIRED

1" MINIMUM

SEPARATION -t:_l\,__l.._J
T

1 TO GLASS 7

MAXIMUM M. P;ZN[;‘,LL)LENGTH
A.S.D. DESIGN -
PRESSURE RATING 24 GAGE STEEL
7
(pat) MOUNTING W/0 | MOUNTING w/_ | MOUNTING W/
" HEADER (2)| "h" HEADER @ come. (12« (¢3)
+35.0, —40.0 9'-8" g9'-8" g'-8"
+40.0, —45.0 g'-2" g'-2" g'-2"
+45,0, -50.0 8'-9" 8'-9" 8'-9"
+50.0, -55.0 8'—4" 8'-4" 8'—~4"
+80,0, —65.0 7'-8" 7'-2" 7’8"
_+70.0, -80.0 7'-2" 8'-3" 7-2"

i

1

NOTE: MINIMUM PANEL LENGTH IS 3'-0"

KcoNT.

_fax. PANEL LENGTH (SEE SCHEDULE}

@couz

(OPEN POSITION +)

+ NQIE: SNAP CAP §3) 70
REMAIN CLOSED AT NON
HURRICANE CONDITIONS.

I A2
,I 1" MINIMU.

SEPARATION

@

\ =
—

T NS e
WING N .
7 W /STUD
A
POURED
CONCRETE OR
CONCRETE
BLOCK WALL
REQUIRED e

CONT.
SECTION @ STUD

TYP. TOP/BOTTOM

(OPEN POSITION 4}

WALL MOUNTING INSTALLATION

SECTION 8

SCALE : 3/8" = 1"

FLORIDA BUILDING CODE (Non Migh Velocity Hurricane Zone)

(OPEN- POSITION )




THIS SCHEDULE INDICATES REQUIRED ANCHOR SPACING
FOR A GIVEN DESIGN LOAD anD PaNEL Lemeri M MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND CORRESPONDING MAXIMUM ANCHOR
DESIGN, LOAD MUST Bt D 4S AR s £ D = EDGE DISTANCE
[ - h E CHED >
DESIGN LOAD MUST uE SPACING SCHEDULE FOR INSTALLATIONS INTQO CONCRETE AND CONCRETE BLOCK STRUCTURES *
Weérd T M rRER T APPLICABLE TO | WAXiUM MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2" ** 1 apeLicasie o | maxmun
.5.0. ZAMAC NALLIN, A.S.D. ZAWAC NAILIN, CTIONS # & | PANEL
DESIGN TAPCONS NABD EALK~IN SOLID-SET PANELMATES CF TAP~GRIP | SECTIONS # & § PANEL TAPCONS NALINY CALK=IN SOLID-SET PANELMATES ¢F TaP-GRIP | SE #
PRESSURE ZED L prieer ANY COMBINATION] LENGTH P’;gggﬁ " RED_HD. DYNABOLT ANY COMBINATIOM|LENGTH
RATING(p.5.f.) 0 ) 0 0 70 10 ™0 0 0 v o { 70 OF THEM L) : 0 o 70 0 70 0 o 0 0 To 70 0 OF THEM 30" (f.)
AL CONCRETE | MASONRY { CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE MASONRY RA HNG(P'S“" CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY § CONCRETE | MASONRY | CONCRETE | MASONRY - -
12" - 12%+|  ~ 12° - - - 12" - 12" - 1 & 3 (T0R) 12" - 12mE| - 12" - - - 12" - 12" ~ 1 & 3 (TOF)
12" 9" 2%+ g2 | 12" 7 12" v | 127 | gzt oy 12" |9 172" | 1. 97 (BOTTON) 12" 5" 12+ 12" | g2 5" 127 | g2t ) oa2r | a2 | g2 7" {1 9" (BOTTOM)
) 12* - 72"+ - 12" - 12* 12" 12" - 12" - 2, gt(rop) | o2 - 12+ - 12* - 12" 12" 12" - 12" ~ 2, gt(ror)
12" 9" 12%+ | go" 12" 7" - - 2” 12" 12" g 172"} 2 (BOTTOM) | 12" g" | 12v+| 12" 12" 5" - - 12" 12" 12" 7" 2 (BOTTOM)
+00, ~450| 12* | g 12%+| 2" 12" 7 ~ - 12 127 | 12" |9 1/2" | 3 (BOTTOM) >+40.0-450 127 & 12"+ 12° 12" 5" - - 72" 12" 12" 7 3 (BoT70M)
oR 72" - 12"+ = 12" - - - 12 - 12" - 4 (TOR) 80" n 12" - 12%4| - 12* - - - 12" ~ 12* - 4 (0p) | &-0"
LESS 12" 9* 12"+ 12" 12" 7" - - 4 og2" 12" 12" 1g 172" § 4 (BOTTOM) OR +50.0,~550 | 12" 8" 12+ 12" 12" 5" - - 12" 12" 12" 7" 4 (BOTTOM) :;
L
. ~ ~ B » - - ~ 5 (TOR/BOTTOM)| LESS " . . 5 {T0P/BOTTON)
9 0 - - - 12 - - 7 é’gp} 7 - - - 7 - - - j0i/2 - - - 7 (1op)
12" - - - 12" - - - 12" - - - 6 (10P) 10" - - - 10" - - - 12" - - - 6 (T0F)
17" ~ - - " - - - 12 - 1 - - 6 (BOTTOM) 8" - - - 8" - - - 12" - - - 8 (BOTTOM)
10" - - - 11" - - - 12" - - - 7 (BOTTOM) 8" - - - 8" - - - e - - ~ 7 (BOTTOM)
g - — — B 72" 6...1 ’2” ,2.. ) ’2n ’2n — - IB (TOP,/BOTTGM) - - - — ] ,2u — 12" 12“ 12:: 5» ) - - la (TOP/BOITGM;‘ -
. 12* - 2%+ -~ | g2 - S - - 12" - 12* - |13 @om | | 8" - Vakad BN Y- - ~ - 12" - 572" ~ N1 &3 (0P il
2" | 6" 12| ppv g2t |5t | g2v | a2t | oa2v | og2r f a2t |6 127 |1, 96 (BOTION) , AR ks B I s 127 | 12 | 12 e 2| er | 5 |1 9 (BOTION)
12" - 12mE| - 12" - r2” 127 | 12° - 4 gz - | 2 9%mop) 4 Ao - A I 12 | - 127 ot | 12" | 9" - 2, 9%(rop)
12" 6" 2%+ 12* 1 12t 5" - - 12° | g2t | o12v (e 12§ 2 (BorTom) | 12" 5" 1 g0 | 12° ¢ - - 12" |9 1/2"| 9" 5" | 2 (BoTTOM)
12 | 6 2%+ g2" | g2v | 5 - - 12" | 12" | 12 |6 1/2™) 3 (BOTTOM) 122 | 8" 1| 0m |12t 4 - - ] 12t |e1/2"] g 5" | 3 (BoTToM)
+40.0, ~43.01 12" - 72" - 12" - - - 12" - 12" - 4 (TOF) >8~0" SH00, 4501 12" - 1| - 12" - - - 12" - 8" - 4 (TOF) >8"-0"
oR 12 8" 12" | 12" 12" 5" - - 12" 12 | 12 |8 as2"| 4 (eorrow) | T 10 12" 5" 11"t 90" 12" 4 - - 12" 191/2"| 9" 5" 4 gorrom) | T°
A b " 1] "
- - " . 5 (ToP/B0TTOM) ¢ -8 . 5 (70P/BOTTOM)| 9 -8
LESS 7 - 7 - - - 10 - - - " (/mP) 4 #5800, -550] 5 ~ - - 5" - - S KL N - - 7 {TOF’)
10" - ~ - 10 - - ~ 12" - - - 6 (T0P) 8" - - - 7" - - - Jo2r - - - & (ToF)
8" - - - 8" - -~ - 1ot - - - & (BOTTOM) &" - - - 8" - - - 8 1/2" - - ~ & (BOTTOM)
8" - - - 8" - - - 1" - - - 7 (BOTTOM) 6" - - - 6" - - ~ 8" - - ~ 7 (BOTTOM) |
- - - - 72" - 12" 12" 12" 8" - - Ia (IOF/BONOM)I - - - - 12" - 12* 12" 12" &" - - S (}‘OP/EO]TQM
= +  ONLY TAPCON ANCHORS OR ALL POINT SOLID-SET ALLOWED FOR
FACTOR MOUNTING SECTION 9.
ACTUAL E. D, T L AEEIIIE Sy,
{ ry EF EY &,
mecon | sommsorr | cak-m | soup-ser | oF mpocmp | ** ANCHORS SPACING ONLY APPLICABLE TO ZAMAC NAILIN ANCHORS séééé‘i“‘\%«% A Tj@:‘f “
PANELMAT! AR o
LLANELIATES, *  SEE SHEET 7 & 8 OF 8 FOR ANCHORS TYPE & SPACING KU STt N
3" ~ .86 75 78 1.00 FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS. & RN JGENg éf‘ Yok
5 . Lt s ' . . . .
2 12" - .71 .50 - .80 ¢ MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 172" EDGE DISTANCE S N wy =N B T FLORIDA BUILDING CODE (Non Migh Velocity Murricane Zons)
it »y P =
p— TOR £ D LESS THAN 3 7/2% REDUCE ANCHOR SPACING BY =~ & o : =% ©2011 TLTECO, INC. 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL| Lé./RE./ac.
2 _ 50 _ _ _ MULTIPLYING SPACINGS SHOWN ON SCHEDULE BY THE FOLLOWING = Y% 3 B 5
FACTORS. (Min. £. D. FOR CALK—IN ANCHORS & ELCO I H (2.25" DEEP) DRAWN 8Y:
1 12" 35 - _ - - PANELMATE IS 2 1/2" AND 3 1/2" FOR SOLID-SET ANCHORS). % 'f% : 5 12/06/11
FOR THIS OPERATION TO BE MADE REDUCED SPACINGS RESULTNG % 7% 2l EASTERN METAL SUPPLY, INC .
FROM APPLYING ABOVE FACTORS 3 %, ) ILIECO xc ! el
SHALL NOT RESULT ON SPACINGS LESS THAN 3" FOR ALL ANCHORS % Co . INC. e T R DR 07
5" . ) e 5 o TILLIT TESTING & ENGINEERING COMPANY y oo -
(EXCEPT +4.5" FOR RED HD. DYNABOLT ANCHORS) ,,,,%; ‘@:ﬂ‘! AL TN | JILLIT TESTING & ENGINEERING COMPANY PHONE: (561)209-8263, FAX: (561)841-1716 11-223
s ? b Phone (305)87;;!532 éai’;n; Q (305)871~1531 Prv ESeRTION e eV o DESCRIPTIGN ATE DRAWING No
WALTER A. TILLIT Jr. PE. ! oL 08~142 12/06/11 3
FLORIDA Lic. # 44167 2 . SHEET &5 OF 8




MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND CORRESPONDING MAXIMUM ANCHOR

- E. D = EDGE DISTANCE
SPACING SCHEDULE FOR INSTALLATIONS INTQ CONCRETE AND CONCRETE BLOCK STRUCTURES *
M ) . D = 2" #
MASHMY MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2 N -
DESIGN TAPCONS ZAMAC NALIN/ CALK—~IN SOLID-SET PANELMATES cF TAP-GRIP | SECTIONS # & | PANEL
PRESSURE REQ HD, YNABOLT ANY COMBINATIOM| LENGTH
RATING(p.s.f )}  TO 70 70 70 70 0 70 70 70 70 ™ 0 OF THEM L (f)
CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY } CONCRETE | MASONRY | CONCRETE | MASONRY
- e _ » . o - - - 12" - 6" - 1 & 3 (T0P)
+ gﬁggfyif;yf
12» 12:: lf”++ ?oﬂ 72» 411 ’2u ,2n 72” Il 1‘/.2” 911 5:: 1, 2] (BOTTOM) §e§§ \"&:‘ER ? 3:,,
12" - 11o4% - 12* - 12" 12" 72* - 9" - 2, 97(rop) \K%\ 5/}\%
. 12" 5" 17Ut 10" 12" 4" - - 12" |8 1/2" g 5" 2 (207170M) 3
el
THIS SCHEDULE INDICATES REQUIRED ANCHOR SPACING 0.0, — n » ” u ) ~ - " w " i ©
FOR A—GIVEN DESIGN LOAD AND PANEL LENGTH. >+500.-55.0 12 l 1o 10 12 ’ 2 ? ?/2 7 5 ’ (BOTTOM) 8'-0" :
HOWEVER MAXIMUM -FANEL LENGTH FOR A GIVEN » w i
DESIGN LOAD MUST BE VERIFIED AS PER SCHEDULE To 12" - 1R - 12" - - - 12" - g - 4 (TOP) OR 3
ON SHEET 4 CF &, - N
- +70.0,-80.0 12" 5" 710+ gp” 12* 2" - - 12" 9 172" 9" 5" 4 (BOTTOM) LESS N
N ’ " N 5 (TOF/BOTIOM)
5 - - - 5 - - =~ 8 - - - 7 (T0P)
8" -~ - - s - - ~ ho e - - - & (TOF)
"fﬁy 552 25%
8" - - - 5" - - - 9" - — - & (BOTTOM) - sa8seit
P - - - pr - - - terer| - - - 7 (BOTTOM)
- - - - ;2‘{ - 12" ‘ 12" 12¢ 5" - - IB (TOP/BOTTOM)I
MAXIALM MAXIMUM -ANCHORS SPACING FOR E. D. = 3 1/2"- P MAXIOM MAXIMUM ANCHORS SPACING FOR E. D. = 3 7/2" » T aprcasie 70 Vasmon] |
ALD, - . i . —— i - . — i o A kL ‘
TAMAC NAILIN/ - ) " ; o B SECTIONS # & ¥ PANEL - ASD. : ZAMAC NAILI, . - F Ta-cRip | SECTIONS # & | PANEL
P%féssfggRE TAPCONS RED D, DINABOLT CALK=IN 7 SOLID~SET PANELMATES CF TAP-GRIP 4§chOfda/N’i r}%h oy p%ﬁgg‘lvgz TAPCONS RED WD D AB'SLT CALK~IN | SOLID-SET PANELMATES c» TAP—G; L comsmmnonLene
RATING{p.5.£)}  TO 0 0 0 0 ey T v | 70 0 0 OF THEM () 4 TING, b 13 PO 70 7O 0 0 10 70 o | 7w 70 To /[ OF THEM 34" (1)
CONCRETE | MASONRY { CONCRETE | MASONRY-§ CONCRETE | . MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY. | CONCRETE |-MASONRY- (p.s.t. CONCRETE | MASONRY | CONCRETE | MASONRY - CONCRETE | MASONRY *| CONCRETE | MASONRY | CONCRETE |- MASONRY | ‘C’éNCREE MASONRY
6" B 8" - - - o1t - 1 4 - 1 & 3 (TOP) 4 5 - 4mtt | - 5 - - - 8" - 3" - 1 & 3 (T0F)
, » " » i+
10 | a2t | et | g 17 3" 122 | aze | o12r g |7 12| 4 |1 9(BOTION) 10" 3 | e 10" 3 127 | 12v | 12 70 |8 1/2" |3 172"} 1. 97(BOTTOM)
. " +
17" - g” ++ - 1" - 12" 19" 12” - 7 1/2., _ 2, 9+(TOF) i 10” - 8" ++ . 10" - 12" 12" 12 - 8 ,/2 - 2 9 (TGP)
11 4" | et | g 11 3" - - 12" g |7 12" 4 2 (sotTomM) | 10" 3 | et | 7 10" 3 - - 12" 7" |8 1/2" |3 172" 2 (BOTTOM)
>+580.0,-55.0{ 11" 4" gt . 8" 11° 3" - - 12" g |71/2" | 4" 3 (BOTTOM) >+50.0,-550] 10" 3" "+t | 7 10" 3" - - 12" » |6 1/2" |3 172" 3 (BOTIOM) g
}8" 0" - -
il 11" - g"t+ - 1 - - - 12* - 712" - 4 (TOP) 0 0 10" - 8"+t - 10" - - - 12" - |8 12 ~ 4 (TOF) ™0
+70.0,-8001 11" 4" 1"t | g 11" 3" - - 12 g 712" 4 4 (BOTTOM) { 8'-4" 1#7006,-800) 10 3 | g 10" 3" - - 12" 7* {6 1/2" |3 12" | 4 (BOTTOM) |g'-8”
" " 7 /BOTIO . 5 (TOR/BOTTOM)
4 - - - 4" - - - 61,2 - - - F fTQF’{mp) 2 4" - - - 4" - - - 512 - - - 7 (roP) |
&" - - - 8" - — _ 3 7/2:: - _ - 8 (TOP) 8" - | - - 6" - —- - 7 7/2" — - - & (TOP)
5" - - - 5" - - - 7" - - - 6 (BOTTOM) | 5" - - - 5" - - - 61/2" - F - ~ 8 (BOTTOM)
5" - - - 5" - - - 7" - - - 4 7 (BoTroM) | - 4" - - - 4" - ~ - 1 s - - - 7 (BOTTOM)
- - — — . 8" - ’21: ’211 12" 5» - - 8 (TOP/BOTTOM) | ! — - - - 5" - 12" ;2:; 72" — ) - ~— £ (TOP/BOWOM)
+  ONLY TAPCON ANCHORS OR ALL POINT SOLID~SET ALLOWED FOR MOUNTING SECTION 3.
FACTOR
ACTUAL E. D. e —— ++ ANCHORS SPACING ONLY VALID FOR ZAMAC NAILIN ANCHORS. FLORIDA BUILDING CODE (Non High Velocily Hurricane Zone)
TARCON %‘ZZ’!’E?% CALK=IN | SOLID-SET | CF TAP-GRIP |« SEE SHEET 7 & 8 OF 8 FOR ANCHORS TYPE & SPACING FOR INSTALLATIONS INTO WOOD ©2011 TLTECO, INC. 24 GAGE GALVAN/ZED BERTHA STEEL STORM PANEL| Lé./RE/AG.
4 FRAME BUILDINGS. (2.25" DEEP) DRAWN BY:
3" - 86 .75 .78 1.00
o MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE DISTANCE. 12/06/11
2 1/2" - 71 .50 - 80 FOR E. D. LESS THAN 3 1,/2", REDUCE ANCHOR SPACING BY MULTIPLYING SPACINGS SHOWN EASTERN METAL SUPPLY, INC DATE:
ON SCHE%ULE By ;HE FOLLOW/N'{}2FA,££§R§. (M/N:S E D.szg; S())ALK~—!N ANCHORS & ELCO "_ E C O inc 2268 WEST ROADS DRIVE
" - 50 - - - PANELMATE IS 2 1/2" AND 3 1/2" OLID~SET ANCHORS). W , L -
2 FOR THIS OPERATION TO BE MADE REDUCED SPACINGS RESULTING FROM APPLYING ABOVE T TN e G O e PHONE: (561)209~8263, FAX: (5618411716 11-223
;172" 35 - - - - FACTORS SHALL NOT RESULT ON SPACINGS LESS THAN 3" FOR ALL ANCHORS (EXCEPT +4.5" e (30518711230 s (OTI=I1E oo | pascoN AR DescaToN T | DRAWING Ne
FOR RED MD. DYNABOLT ANCHORS). WALTED 4 TILLTT o PE ; IS T T oneer o of 8
FLORIDA Lic. # 44167 2 )




£Q EQ

" 1" x 2" x 125" (hgngczl;% T Ay : 1/4'8 LAG SCREWS @ 6"
" f 3 TUBE W/ 1/4" LA . Co W1 1/2" MIN.
r 1/4°0 LAGC SCREWS © 6" \ \“k '/g ﬂw%G :Sgﬁfff/fiz@ ° L .. @ 6" o./ ct/w/ 7 .1/2" Min. , B ?HREAD/ED P{r;vsmnow
| . .0 W/ 1/2* MIN. L/ /— THREADED ‘pENETRAT[ON N THREADED - PENETRATION - ) . 1O EXISTING WOOD
- THREADED PENETRATION . 70 EXISTING WOOD . =13 TO EXISTING WOOD HEADER, , HEADER.
: 7O EXISTING WOOD L/ . ey . . .
. HEADER. v i 5 " S 3 . B 3
N R 1 Ky . ] X N
- ; % 700 I ' i B8 =
[E §§ A l",-—{’ &g = o NS - 'l
= ﬂ L/ ‘; L i L=, : ] l !
; l ¢ 2%\ i % ol 2] < | o) : '
| cont 5 ZOViIN | | Cont, Mn'k‘ : | cont WL Il \  Cont.
ont, 2 , R I S S " o S
YRR Ay N Dimaryy e Q S £
. (e e T | | o o8
, : 2 #OOD HEADER | ’ REQURED | &
: | O WOOD HEADER 1 S REQUIR | B 7" MINIMUM 0
WOOD HEADER REQUIRED | & 1 miNium L g SEPARATION TO | 5
REQUIRED | o - ! - — SEPARATION 10— | ] 6LASS 2
[ § ESRI . K 6LASS | 0 l i
A1 wmum d S | N | S [ z
SEPA?Té%N 70 f" I “ ‘ ‘Gu:(l) E ) | £
LA | § » | : b A 4 . 7Y N é
| 4 —= l\’ % —h— A— £ —'— T "
| ) A g g | “’“‘@ b
—Hr- ] M® | g g
% I In] l .....@ ~ i I R
: #-20 2 374" 8 8 o - ¥
AL TERNA TIVE 1 Y iy § s s, | g g M & | g
o 7/8" @ x 3/32 3 g I
A % i %??YN':S{TTU? e = = I ;/4" @20 x § | |
7 T £ | Rr2"o’c | 34 80LTS W/ = ! : . l
M S s O / | (i sy & | ST K |
SEPARATION T¢ . 8§ - 1 vl ‘ , 1
Exsivg s || 4 Bate TH = | g B PavarA i \\ \ \ \’/4.. 6-20 -
| e oTT, IS | d 17" =" \ ; OLCREAN #8
WING NUT @ g8l ; ’ * : i / 1 S e
i L4l g| T R Yoo I e
™ oo . C- “ " oD B -
| ,‘§ i b - ) Cont. ‘S ! _ & 210 H 0 7};{5;{3" sg‘ug
ot . % \|L1/#%8 LAG SCREWS © 6 (A W~ (&) cont Meeboms < . ' 2. €,
5 e | - ¥ \ 0.8 W/t 172" b, T - 1/4'8 LAG SCREWS & 6
ol e R | PR “*I' THREADED BENETRATION @ /] . B w1 1/2" MIN,
i ‘ gfg“'ﬁ?gm | MIDWIDTH OF PLATE. ) 1" % 4" x 125" (Min,) ¥ THREADED PENETRATION @
: 8) Cont. wo W woon' sTup 606375 s, TUBE (Cont,) A ilf MIDWIDTH OF PLATE.
. . o an & @ 24" 0. ¢
oy e s o * ) 170e 130 somevs o
2" ’%5’&)1:1’2‘5‘"5 || THREADED AENETRATION © . AL EACH ST%ZM%%’HZ% ovi; szrgo.
K\A | MIDWIDTH OF PLATE. ' ' N T RABED PENETRALON
‘ INTO EXISTING STUD,
: ALTERNATIVE 5;,;”;%
- ‘ ALTERNATIVE 5
ALTERNATIVE 2 ALTERNATIVE 4 ALIERNATIVE
DLIiLRNAIIVE G - .
L WALL MOUNTING INSTALLATIONS 5 Y
5,
] - ” "W =
1 M| [ SECTIONS A SCALE : 1/4" = 1 L g
Bt , < - LA
EXISTING 1/4" 8-20 x 3/4” - = K TAT 3
| I aours wy NOTE _FOR_COMBINATION OF SECTIONS: AT T . EOF /.03
| A el i " N DETAILS ON EXISTING WOOD BUILDINGS Y %\“%'{ZG%@P\ A
Foay ST WALL MOUNTING SECTIONS CAN BE COMBINED | INSTALLATIO It 1/ . % S tHIion. e
| (e e IN ANY WAY TO SUIT ANY INSTALLATION. - R A
| 0. & T, ) L4887
‘ /!V o ’i&i,@:ﬁf‘“gn
% HE) ; i Zonea)
) ity Hurricane Zon
il | FLORIDA BUILDING CODE (Non High Vaelocity ———
1 &) cont. 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL| LG./RE/As.
% OTES; ®2011 TLTECO, INC. m DRAWN BY:
e 1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.S.D. DE%G@'@?SSUR 4 12/06/11
‘\_b/g QW%G 73’62,'?'5;2;;\/@ 6" UP TO +60.0, ~65.0 psf AND PANEL'S LENGTHS UP o or SO»UTHERN 7 ™ EASTERN METAL SUPPLY, INC DATE:
«| THREADED PENETRATION @ 2. FOR WOOD FRAME CONSTRUCTION: Wg_og 5@51\5!2&/;2 " I". l E c o INC 4265 WEST ROADS DRIVE
[ MIDWIDTH OF PLATE. PINE No. 2, W/ SPECIFIC DENSITY O 1 S WEST PALM ma} ;L.(gg;;% 1716 11-223
- TILLIT TESTING & ENGINEERING COMPA PHONE: (561)209-8263, FAX: - DRAWING No
: 538 Bons N sosasi 139 'w;gt«‘y(ggg)%ﬁ i FEV. No DESCRIPTION GATE | REV. Na DESCRPTION ATE
’ EB~0%?%73 PE 7 o 08-142__ |1z/08/0) 3 SHEET 7 OF 8
A r. P.E.
ALTERNATIVE 3 W ELORDA L 4167 2 -




FQT_._:—;[_EQ

1/4" 8 LAG SCREWS &
+*0¢C W/ 1 1/2" Min.

1/4" @ - LAG SCREWS @

1/4" 8 LAG SCREWS @

THREADED PENETRATION 47 0.0 W/ 1 1/2" Min, 4" 0.0, W/ 1 1/2" Min.
I\ CONT. T o THREADED PENETRATION h THREADED PENETRATION b
T \’a‘ /" 4o 1N i ! S)ioren-rosmon » TO EXISTING WOOD BEAM._ | 70 EXISTING WOOD BEAM. ___|
? 1/4" ¢-20 ELCO g " o
male/ femeale ) %4" & LAG SCREWS @ N—-"WOC’)‘DBHE%”%E%",;%G | 4" x 8° (Min) EXISTING J / 4" x 8" (Min.) EXISTING
PANELMATE ® 12" 6" 0.C. W/ 1 1/2" Min. STRUCTURAL ADEQUACY WOOD BEAM REQUIRED, WOOD BEAM REQUIRED.
. a.c W/ 1 778" L THREADED PENETRATION OF EXISTING WOOD £ g;ﬁg;:(g/% %EC%JACY —EQ E f;;’?‘éﬁg’r% %ﬁmm
. Min. PENETRATION 70 1o EXISTING 100D e e BEAW TO PE CERTIFIED BEAM 70 BE CERTIFIED
18 conr ? | 5 o ot o e A oy
o o= = | v B | 70 SHUTIER INSTALLATION. TO SHUTTER INSTALLATION. 70 SHUTTER INSTALLATION,
n | | |
: | | | / b4 /1/ —EAH-£05
K ; i f Ph} e
| I | LS \ |
. ] | P 8 |* NotE: snap cap @ To | |
L'__L . | | I & REMAIN CLOSED AT NON ] I ._.
Lk | o I 8 [HURRICANE CONDITIONS. ' I
! wooD HEADER | £ | R P Ll | I N Cont. PR oo |
t
| -REQUIRED j g ! Lo 8 2 . : g { g
i | & 1" MNMUM T T wooo wewser i ! 5 i S
x
i l 0 - J P . —Q) 3 (2" Min Nommwa | | N S | o
! 1 | @ SEPARATION 70+ | B | 1/4" 8-20 x B Womy wy 2" . | | g | ___@ &
i i 1 6LAsS j & P340 ‘ ' PENETRATION. | ’ ‘ 4
: r e O I | i g 1 7/8" % 3/32 2 2 | ! @0 | | (@
i | I 4 I | I o 1 WING 3 / ! 5 {‘f i g
b | | u | I g 12" 0. kS 1 | z H | oy
Eorwmm | pay cowr. || | & | i | ! i r, ! i
~| seraranion 1o | g E | 8 .. é | | 2 | | N
§ GLASS g [ = f B S - N x —h— Al x - A1
A At | = v = i Iy
' o % e N ! “}“ . e I B 2 — A— 2 I e e g
—— - g O ; > : L 12 MNMUM | | g 1" MINIMUM ! g | 1" MINIMUM ! ~
| , £ Sl SEPARATION 1~ SEPARATION TO~ SEPARATION 101 ]
H 1 I e ¥ o= H Glass ' ““@ g i 6LASS ! ““@ g I GLASS l ‘_® 2
| : & / I l 2 | | g
! § E ! i i g ! I g ! i &
i ' : —@ = 1/ . Pl i I | : 1 | - }: i %
! i § . ! 0 i § etk | | g | §
i ; ; == 1/4" 4 LAG SCREWS | :: ! = Wi, T 0 ! ! 3 H |
) ; wooD. % © 8" 0.0 W1 172" - — 12" 0. & : i - H - P
i i PLATE ) win oeints | —A— I = —A— g2t x5 | —— 1 I EA
4 [ T Mo s ! recurep V] = PENETRATION @ 4 o 2" % g | jroon ] ; gggg |
/ e ! /] Al 5 MIDWIDTH OF PLATE. 9 | WOOD DECK 5 , DECKARE ALTERNATE LEC- N P
) | L - 7 ONT. Cont. | | REOUIRED i P REQUIRELT LOCATION ~_ pont. ST e ]
[ /] | — a3
~.. i N1 % . . * ] Cornit; L ’
S e I (OFEN POSITION -*) e iE » .
_ , Ji :\ ! - o == s =i -""‘ﬁ'—J
- / T @ uwinTH ; A S — X
| orpLATE I | | 7 '
i b Y [ 7% _Min. | i e’
RN ety st b - v
.. " ING GLASS .~
WooD - gANﬂ;yATE @ ?':? g : LONT, L ,,J \7/;4 @ LAG SCREWE @ uE(,).L[Q- \‘ . - 7"1~ _.l 1" I_ \ 1/4” 8-20 x
PLATE ¥ Gy 178 d | 4" 0.0 W/ 1 1/2" Min. . 1/4" 8-20 x Yt borswy
REQUIRED ) Min. PENETRATION e 7/8" x 3/32" THREADED " PENETRATION 1/4" @ LAG SCREWS @ 374" BOLTS W/ 1/4" @ LAG SCREWS © 78" x 3732
% D 24" 0.8 W1 1/27 Min 7/8" » 3/32" A W o NG NUT ®
. i L WING NUT @ EA. THREADED PENEFRATION WING NUT & 4" 00 W/ 1 172" Min.  WING NU
: § STiD 127 0. ¢ THREADED PENETRATION 12" 0. ¢
H é %
H R £ - - . )
y | ) ALTERNATIVE 1 ALTERNATIVE 2 ALTERNATIVE 3
e St g9
9;1:/0070 N ‘ ¢87
ALTERNATIVE 7 REQUIRED S)onr. CEILING & FLOOR MOUNTING INSTALLATIONS
: (OPEN POSITION *) : . : » . ‘
y " SECTIONS B scuc: iy = 1*

SECTION @ STUD TYP. TOP/BOTTOM
ALTERNATIVE 8

WALL MOUNTING INSTALLATION

WOOD BUILDINGS

INSTALLATION DETAILS ON EXISTING

SECTION A SCALE : 1/4" = 1°
ettt A
FLORIDA BUILDING CODE (Non High Velocilty Hurricane Zone)
NOTES: ©2011 TLTECO, INC. 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL| ~vLé./RE./ac.
ST L 225" DEEP DRAWN BY:
NOTE FOR COMBINATION OF SECTIONS: . INSTALLATIONS ARE ONLY VALID FOR MAX. AS.D. DESIGN PRESSURE RATING (. )
UP TO +60.0, —65.0 psf AND PANEL'S LENGTHS UP TO 7°-8" . A 12/06/11
FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE 2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN I ' EASTERN METAL SUPPLY, INC ol
COMBINED IN"ANY WAY TO SUIT AN INSTALLATON, PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. ILIEC O e (1268 WEST ROADS DRVE
WEST PALM BEACH, FL. _
e e M o PHONE: (561)209~8263, FAX: (561)841~1716 11-2253
Phane : m”’”é;fgga;;’; ¢ (30908711531 REV. No DESCRIFTION | BATE | FEV. Mo DESCRIPTION 2ATE DRAWING No
WALTER A. TILLIT Jr. P.E. ’ oup oe-142  iosnn 3 SHEET 8 OF 8
FLORIDA Lic. # 44167 2 3




